
SAP ABAP table LOP_S_EMBEDDED_TREE_DISP_DATE {Display Structure Embedded Tree (Declaration Date)}

LOP_S_EMBEDDED_TREE_DISP_DATE

DECL_GROUP [CHAR (4)]

EVENT [CHAR (4)]

CAL_ID_RESULT [CHAR (2)]

LOP_C_DECL_GRP

CLIENT [CLNT (3)]

DECL_GROUP [CHAR (4)]
 LOP_S_EMBEDDED_TREE_DISP_DATE-DECL_GROUP = LOP_C_DECL_GRP-DECL_GROUP 

0..N

1
PPE_C_EVENTS

CLIENT [CLNT (3)]

EVENT [CHAR (4)]

 LOP_S_EMBEDDED_TREE_DISP_DATE-EVENT = PPE_C_EVENTS-EVENT 
0..N1

TFACD

IDENT [CHAR (2)]

 LOP_S_EMBEDDED_TREE_DISP_DATE-CAL_ID_RESULT = TFACD-IDENT 

0..N

0..N


